m Parts Breakdown 6402
V/7l11,db iy

1

Page 1 of 2 8/18/2010



V/771i

Products with multiple versions are listed in subsiding order with the newest version on top not indented

T

LOOO\IG)(NAQ)—\)E
+

A BABAMBABRADMDOWOWWWWWWWWNDNDNNNNDNNNNNN=S2 22 A a3
DO WON_20O0COOPRWWON_LOCOOONOODOODRWN_,ArOCOO~NOOCOODOODOODADBDMPAWN-~O

400
401
900
903

/ |

b A A &

Part ID
763098-5
254011-9
322301-9
285804-3
211201-7
257153-8
1579111
263002-9
221764-5
961052-5
263002-9
157912-9
211012-0
211014-6
211014-6
226079-5
211012-0
211014-6
211014-6
159010-5
856138-7
343407-0
633056-4
410923-8
253192-6
211028-5
263014-2
681614-0
511836-7
241881-5
211031-6
211033-2
911173-3
911183-0
263002-9
911581-8
191910-3
195005-4
911124-6
421144-7
650208-2
651352-8
150621-9
911153-9
651475-2
911133-5
687002-9
682502-4
664064-4
763434-5
411780-7
810231-1
819063-3

Parts Breakdown

Part Name
DRILL CHUCK 10
WOODRUFF KEY 4, 9557PB
SPINDLE, 6402 (TYPE 2)
BEARING RETAINER 19-34, 6510LVR
B. BEARING 6002LLB, 6510LVR
RING 15, 6402
GEAR HOUSING, 6402
RUBBER PIN 4, HR2400
HELICAL GEAR 49, 6402
RETAINING RING S-12, 9218PBL
RUBBER PIN 4, HR2400
GEAR HOUSING COVER, 6402
BALL BEARING 606ZZ, HR2410
B. BEARING 606, 6826
B. BEARING 606, 6826
GEAR 11-34, 6402
BALL BEARING 60677, HR2410
B. BEARING 606, 6826
B. BEARING 606, 6826
MOTOR HOUSING CPL.,6302
NAME PLATE, 6402
HOOK, 6820V
FIELD
BAFFLE PLATE, 6820V
F. WASHER 14, HR2400
B. BEARING 627LB, 6510LVR
RUBBER PIN 4, 9217SPC
INS. WASHER, 9031
ARMATURE ASS'Y 115V, 6302H,6303H
FAN 52, 6904VH
BALL BEARING 608LLB, 9227C
B. BEARING 608LB, 5091D
P.H. SCREW M4X45, 6906
P.H. SCREW M4X55, 6402
RUBBER PIN 4, HR2400
PAN HEAD SCREW M4X55, 6820V
CARBON BRUSH 401, NHP1310
CARBON BRUSH SET CB-401, NHP1310
P.H. SCREW M4X14, 6402
DUST COVER, 6510LVR
SWITCH,6510LVR,6302H
SWITCH, 6510LVR,T2
HANDLE COVER, 6820V
P.H. SCREW M4X28, JR3000V
SWITCH
P.H. SCREW M4X18, N9501B
STRAIN RELIEF, 9217SPC
CORD GUARD 8-85, HP2010N
CORD (2X18X8 SJ), HR2400
CHUCK KEY 10, 6302H,6303H
KEY HOLDER,6402
N/A
MAKITA LABEL, DA3010F

Page 2 of 2

Quantity

B T T Y Y= U N NG N U ' SRS U N W N N N N L O T N N e e e N T T VIS U N N . W W W e N Y G U W W W (e N G G G e e e e T =N

6402

8/18/2010



